Simple interest
(TTLTRUT STST)

Concept Lecture - 2




Rs.500 was invested at 12% per annum
simple interest and a certain sum of money
invested at 10% per annum simple interest.
If the sum of interest on both the sums after
4 years is Rs.480, the latter sum of money is:

500 TG 12% Yfaa¥ A X & 3T =
AfRaa ofr 10 ufday fir T @
HATYROT <IoT W A3 f&Far =r an afe
4 ot & 9 QAT gAURRAT W ST iy
gnﬂmo T 8 o qEdlt uewrelt aa
a) 450 b) 750

Y600 d) 550
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A lends Rs.2500 to B and a certain sum to C
at the same time at 7% annual simple
interest. If after 4 vyears, A altogether
receives Rs.1120 as interest from B and C,
the sum lentto Cis

AT 7% HY AT T & TH & TAT &
ATYROT sITT T B T Rs.2500 3T € &Y
v fafdaa afr & afg 4 af o, A A
BT C ¥ &a & T H T g &
1120 39 Bed § @Y c A 3UR & 7S
treRrelt AT A

a) 700 b) 6500

c) 4000 H1500




A lent Rs.5000 to B for 2 years and
]O, 000 on Rz Rs.3000 to C for 4 years on simple interest
at_the same rate of interest and received
in all from both as interest. The
rate of interest per annum is
A & B #5000 ¥9d, 2 9§ & fav 3k
C H 3000 39, 4 ¥ & AT AW T
X ATYROT s W 3UR f&ar 3 gr
& ST & T A T 2200% A at

(0 gfy a¥ suTer &7 X Far §?

22 o a) 7% b) 5%

c) 72 % 10%
Adp "7 o




Murphy borrowed Rs.5000 from Jaskirat at 5%

p.a. simple interest for four years. He then added

5000 +% some more money to the borrowed sum and lent

it to Bahadur for the same period at 7% p.a.

2/. | simple interest. Murphy gained Rs.680 during this
transaction, the extra money added b"\‘y himis

|00+ T/ == AH o FAFT F 5000 FIF AR

~20 W 5% JMh T & 4 ¥ F fav 3uR

3qF dC 39a 3UR I F Fw ik

170 ey, 36 IEfr & fav @y A 7%
ay 1 W W IUN & Ul 30 Q@ A=A

e A6f o 680 TUX FHATT | IaET AGf

AT WE W, vt T e 4

a) Rs.SOOOJi{RsJOOO ¢) Rs.600 d)Rs.400
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* On the other hand, had Gopal lent Rs. X + 2Y to Ishan

Gopal borrows Rs.X from Ankit at 8% annual interest.
He then adds Rs. Y of his own money and lends Rs.
o Ishan at 10% annual interest. At the end of

he year, after returning Ankit’s dues, the net interest
retained by Gopal is the same as that accrued to Ankit.

at 10%, then the net interest retained by him would
have increased by _Rs. 150. If all interests are simple,

then fmq thevalueof X + Y.
MYTe 3fFd A 8% aqMSH sITel U X IIT IUN

IHPT & TAW ¥ gEQ W, TS
10% 9T X + 2Y 39 34U Qv I, 6w
aﬂuemw'wﬁrﬁrum'xéﬁaaﬁ | afg ER
HUROT 41T §,a% X + Y &7 AT 700 HY

a) 1500 uxfiooo c) 3000 d) 2500
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225 2D If the simple interest on a certain sum of

1
—~ money for 15 months at 7-% per annum

Sy s - B,25- 25 MM BTG mOT :
1z 9 [2" = 2Y ‘exceeds the simple interest on the same sum

for 8 months at 12%% per annum by
Rs.32.50, then the sum of money is

130 Ifg 15 A & AT v AT ufr w
2275 X Ux\eo— 7%% yfaa¥ & a7 @& |UROT sITel, 8
2 A & R s ofr w1229 v

f T U UYURUT AT & 32.50 T
{0 Ifasw g gaafr Ag e
3 a) 312 b) 312.50
20 /3120 d) 3120.50
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The difference between the simple interest
received from two different so rces on
Rs.1500 for 3 years is Rs. 132.{6. The
difference between their rates of interest is
IR 1500%F FT A 9T & AT AT
OIS & ¥ Ifod AR sueT &Y 2
aef & AT 13.50% & ar &Y sue g
HT AT AT F?

a).zO.l"/ b) 0.25/. 0.3% d) 0.4%
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If Rs.12000 is divided into two parts such that
the simple interest on the first part for 3 years
at 12% per annum is equal to the simple
interest on the second part for 4% years at

16% per annum, the greater part is

Ife 12000 F &Y &Y #EN A fFanfaa fFar
ST 8, S fF g $ET W 12% vy
F T W 3 O & AT AURT T,
qEY HT W 16% Sfded i T @
4- W F AT WURT AT F TR
ar ST AT F4T 87

_#Rs.8000 b) Rs.6000

c) Rs.7000 d) Rs.7500

[ J



A sum of 5,000 is divided into two parts
such that the simple interest on the first part

for 4% years at 6%% p.a. is double the simple

. 3
interest on the second part for ZZ years at

4% p.a. What is the difference between the
two parts?

35,000 &Y WAt Fr g wEN F W IFR
fnfaa fFar arar & 1 gger ST W

%%wﬁaﬁaﬁra#zﬁ a¥ & T
ATYROT AT, GOV 00T W 4% Sfday
@ra#z ay &1 foT AURer s @

I gt §| @t T o Reere ser 2
a) 680 3600  ¢)I560  e) X620

%)}
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A sum of 50,250 is divided into two parts such
. . . 1

that the simple interest on the first part for 75
1 . 5. . .

years at 85% p.a.is > times the simple interest on

the second part for 5 i years at 8% p.a. What is the
difference (in X) between the two parts?

250,250 HT TH YRIA & WP H 5 YHR
Rsnfore # 7§ @ gger amr W 72 A F fAw
8% AT AT G T WIHRIT &, q@l
o W 5, af & v 8y o s W W
HTUROT ST $T 2 I gl §1 @t sm &
W(?ﬁ)ﬁﬂmé‘?

a) 10,275 \MZJSO

c) 12,570 d) 15,270

| SSC CGL T-2 2020 | 11
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A person had left an amount of Rs.
1,20,000 to be divided between his two
sons agedl 4Jears|and 12 years such that
they get equal amounts when each attains
18 years of age. If the amount gets a simple
interest of 5% per annum, the younger
son’s share at present is

¢ IfFd 39T 14 a¥ 3 12 9 F
¥t & 120000 T 3H YHR diedl & &
ST d 18 a¥ @ ST ar 3rg S} Uy
fAd| 3R a5 % aIf¥e  ATYROT
SgTST g Y B¢ a¢ & fhasr & @a?

a) Rs. 48, 800 bfRs. 57,600
c)Rs. 62,400 d) Rs. 84,400

[ ssccGL2011T-2 | 12



If Rs. 7700 are divided among three
brothers Anuj, Vijay and Dhiraj in such a
way that simple interest on each part at 5%
per annum after 1,2 and 3 vyears,
respectively remains equal. The share of
Anuj is more than that of Dhiraj by:-

g 7700 T A AT HEA 37, Aoy
I RT & T =W W @ QS
ﬁrmm%ﬁ?q—aasﬂmezaﬁt
3 Ol & 916 5% Ufday i aT @
HIYROT ATl STaX Gl ¢ 3ol H
AT RS F 90T A el 3AF &7
a) Rs.1800 b) Rs.2500

c) Rs.3000 \dYRs.2800

| | 13
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A person invests money in three different
schemes for 6 years, 10 years and 12 years
at 10%, 12% and 15% simple interest
respectively. At the completion of each
scheme, he gets the|same interest| The ratio
of investments is
UF gfFd ol Meor-3reler A3t
6 I, 10 A 3 12 AT & FHAA:
10%,12% 3K 15% & & F FUROT
SO T RN A3 Far & @&
ASlell & G g 9T, 3§ A I
¥ e &1 3eTITe FT 872
6:3:2 b)2:3:4
c)3:4:6 d)3:4:2

| | 14



21 2% 2 A sum of Rs. 7930 is divided into three

JJD%AZ = D= dZey C parts and given on loan at 5% simple

interest to A, B and C for 2, 3 and 4 years

respectively. If the amounts of all three are

22X ggya_l after their respective periods of loan,
then A received a loan of

A _ p 4 79303a?rt|ﬂa$reh?ramﬁﬁa1’a

= - = ST § 3R 5% W i W W , B

232 zwar 253 R cH Fowr 2,3 3N 4 avt & Rw

fear Smar @] 3w @l m &1

HeTteT AT Yo giaT § af A $ Y&

Iz
1-&: C ‘R:Ii(}-gg e \WfRs. 2760

o) Rs. 2750 M Rs. 2800

[ ssccGL2015T-2 | 15



Rs.18210 is invested in three Schemes-A, B and
C for 5 years, 8 years and 4 years respectively. If
,6%/ A‘ : 187{/ &: IS‘)"/- C= %! 7[7‘ these-t_I:Lree S;;Zmes give a simple interest of
12%,10% and 12.5% respectively. After
completion of each scheme a person gets
A B:C-= _é_ : ;7 . _(L |6x1@x)Smount_in the ratio 3:7:4 from these
|6 Ig y Is schemes. Then find the sum of money invested

2 in Scheme C?
A:E'(fféls" g 5 3ﬂ1821omﬁmmmﬂm+\,s
. .7>Q£sggjk1x\6%3ﬁtc#mr:5a1‘r,8a1’r3ﬁ14a1’r$
foe afa frar s @) 3y s Sisensit

AlRc= ‘17{75 280" 99 T WIROT AT T & FAW: 12%,10% 3R
2 12.5% 8| A% A= A AT 9T afad
MZX%O A arell gafr 1 IqArT 3:7: 4 B

:60_5: aq Aeren ¢ # AT gair w2 4

a) Rs.4320 \_JsRs.5760
¥c) Rs.5880 ) Rs.5120

| SI(GP) | 16




Xt X5+ KT 6 A banker lends Rs.4000 at simple interest to
- customer. The rate of interest for the first year

= 6%+ .3*6+@+lz‘t IS ' is x%, for the second year is (x + 3)%, for the
= 6xM5, _ 3 3@7; third year (x + 6)% and so on. At the end of
- sixth year customer pays Rs. 7480 to banker

‘11-/ /‘*}6 and clear his debt. Find the value of x ?

T dF Th ARH H FUROT AT W
4000 ¥ a1 B g ¥ F v su=
T x% & g I F AT (x+3)% &
MY af (x+6)% & fav 3k sl W@
TS a¥ & Id H TEH SHT A § 7480
$T ST AT § AN 9T HOT THral
g x T AT AT FI?

a)8 7 c) 6 d) 11

| SI(GP) | 17
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A person invests some money in two banks in
the ratio 11 : 9. The rate of simple interest on
first investment is 19%, but overall annual
interest on total investment is 23. 5%, if simple
interest received in second investment is
Rs.1305. Then find his total investment?
PI$ IfFd FO YaUFA aF dA A 11:9 F
oAt # frer FaT ¥ Tew % ¥ 3@
19% a9 & gIoT @ ¥ et Fel
fAder W 3@ 23.5% AT &T wIed @t §
I gE &% 3/ 1305 ¥ AT &aT § A
30 dl A Fe fhcar foraer fFar?
a) Rs.8000 \_,bﬂ?s 10000
¢)Rs. 12000 d) Rs.9600

| SI(GP) | 18
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800° |Yudo
ooy + 6%/ = 22400

2Uao
At 7 = 2deas
6K = \Uugy

A person has invested some amount for a
specific period of time. If the rate of simple
interest is 15% per annum then amount
becomes Rs.44000. If the rate of simple
interest is 6% then amount becomes
Rs.22400. find the sum?

T AFd A o U & [ARET afer
& fav Ay fr g I aeRor sar @
& 15% aif¥® § ar fAses 44000 3 @
STl ¥ afy wTUReT sarer Y W 6% &A@
afr 22400 ¥ g I § O gaARY AT

7
a) Rs.6000 \9)43. 8000
c) Rs.9000 d) Rs.7500

| SI(GP) | 19
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. . . 2
The simple interest on a certain sum for 45

years at 6%% is X8,820. What will be ﬁ

1
amount of the same sum after 75 years at

8 E % at simple interest?
ﬁrd’r AfYaa ¥ w, 62 % e & 4-
a&#ﬁmmm*sszoél
AT UM ¥, 85% HTRUT gToT &7 X
# 7- a§ & greq qwwRy AT FY

% 45,500 b) % 45,400
¢) X 54,500 d) X 54,400

00

| SSC MTS, 14 Oct 2021, Si 0
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A sum amoun.gs to ?14,395:20qat
$9.25% p.a. simple interest in 5.4
years. What will be the é?mple
interest on the same sum at ti%
p.a. iears? AxXU.2%= ¢
UF RN 5.4 ast F 9.25%
yfd a¥¢ F IR O W
314,395.20 @ S g3 [weMm
W 8.6% 9fd a¥ & & & 4.5
H WROT sgTsT fHa«r gem?
X3,715.20 b) 33,627
c)X3,797.76 d) 33,672

[ ssccGL2018T-2 | 21



Rs.6000 becomes Rs.7200 in 4 years at a

IS certain rate of simple interest. If the rate

1280 x 2 x _2 - 2250 becomes 1.5 times of itself, the amount of
—_  thesame principle in 5 years be

Q250 6000 T TH U AR sy A

T fARTd T @ 4 Aer # 7200 T @

arct B I X T@T FT L5 AT @

9T, @ 5 a8 # @ Herwd frae &

STAN?

a) 8000 \m/szso
5 c) 9250 d) 9000
&,
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A sum of 10,500 amounts to

X13,825 in 3% years at a certain rate

per cent per—;nnum simple interest.
What will be the simple interest on the
same sum for_5__years at double the
earlier rate?

310,500 &Y el ufar a¥ @rermor

e Y P ARRT ¥ W 3%
asf & Fewy 313,825 & T B
Ifg s Y qF e F QW FW
R 1 &t 3t welt F 5 ast ¥
forT gTRoT SIS fRdaaT gem?

a) 38,470 \bY38,750

c) 28,650 d) 28,560

| SSC CGL 2018 T-2 |
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A sum of 38,400 amounts to 311,046 at
8.75% p.a. simple interest in certain time.
What is the simple interest on the sum of
%9, 600 at the same rate for the same time?
8.75% Wfd a¥ & WFYURIT AT W
38,400 H UM v ARga &g H
311,046 & It §| 3 saer X 3k
3HT §HT 7 39,600 FHY WY 9T HWrERoT
SqTST 4T 82

a) 32,900 c) X3,012

b) X2,686 3,024

['ssccGL2018T-2 | 24
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A sum of money amounts to
Rs. 15360 in 4 years. If the rate of
interest is becomes 1.2 times then the
amount becomes Rs. 16032 in same
time. Then find the rate of interest?
FS 4T 4 AT H 15360 T H
iRy g St g Iy sue A o
1.2 31 & Sl § o fAsreer saa
& W A 16032 T & ST g a
Y sgTor Y X AT ffeA?

a) 6% \_y(7%

c) 8% d) 7.5%

| SI(GP) | 25



Raghav lent X7,500 to Gopal for three years
and 5,000 to Sachin for four years on
simple interest at the same rate of interest,
and received 3,570 in all as interest.
Interest paid by sachin is:

N AW ¥ W Hq,
a¥ & faw z7,500 3k
a¥ & Qv
a

25,000 3YR
ST ¥ T H 3,570
¢l §Re garr R
AT H
a)X 1,580 b) X 1,500
1,680 d) X 1,600

|SSC MTS, 11 Oct 2021, Sﬂ 6
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